BREMHRRETEHIE (FRMS) hik THTE 1A 148 ()

Frx

o & B &t E i = & == ] z B £ B

m B = R O%

() ART=®) (M) (M) (M) (kg)

WA 106.1 ERE 106.1 1,296 1,296 1,188 13 L
IZALA 50.3 ERE 30.9 1,188 — 1,080 0] A 3L
IZALA = I 45 1,728 — 1,512 0] A L
ZIES5 0.4 BRE 0.3 — 2,160 — 2l A LL
[E<E0 214.2 BERE 214.2 2,376 2,376 616 15 A L
HTE 2.0 BRE 0.5 3,024 3,024 1,296 4f A M
ZED 5.6 il 35 2,268 — 2,160 4l A L
TRy 152.6 BERE 152.6 1,944 - 1,620 10 A 8
IE5NAZES 3.7 2 [ 1.4 — 3,780 — 45 A L
IE5NAZS BRE 1.3 3,672 3,672 3,240 4f A M
hE 20.9 ERE 14.4 2,376 1,944 1,836 3l A LL
hE =I5 0.8 1,728 — 1512 3l A LL
_hE 1.7 = B 1.2 5,184 3,240 2916 3 M
_hE 2 0.3 5,508 3,564 3,564 3l vay M
LwA=E< 0.9 2 [ 0.5 4,050 2,700 2,700 5] A
125 2.3 =l 1.5 9,180 8,100 7,560 5] A M
+)L)— 1.9 2 [ 0.7 - 3,024 — 0] A LL
FRINTGHR 0.1 A¥L O 0.1 238 — 151 0.1
Hh)257— 0.7 BIR 0.5 1,620 1,296 1,080 5 A 6
JOyal)— 7.3 BIR 42 4,050 4,050 3,110 8 A L
Joyal)— E 15 1.3 5,184 — 4,666 6] A M
LARXR 57.1 E & 29.4 2,376 907 907 0] A 12
LAR BRE 19.1 1,620 1,620 1,512 10 12
FoTHA 1.6 BRE 0.8 2,376 2376 1,944 4f A L
=Y 33.0 BRE 28.2 2,538 1,728 1,620 5/ A M
=p5Y ElG 48 2,268 2,052 1,944 5] A M
ANESSED) 2.8 A¥LO 2.2 — 2,646 — 10] vay 5
ANESSES) BRE 0.6 — 1,296 — 10 13
Y 2.0 BE K 1.7 - 3,240 - 5] vay L
B ERE 0.1 - 1,944 — 4l A 3L
k< 12.0 BRE 7.9 2,052 1,728 1,620 4f A S
k< BE X 3.3 97 — 76 0.5 3
I=kTh 8.4 BRE 6.4 184 119 119 02 A M
E—<> 20.4 BERE 19.5 5,702 4212 4212 7.8 A M
F—<y ] 0.3 6,804 6,480 6,156 5] A M
[ZA5Y 0.2 =l 0.2 4,320 — 4,104 6] A M
SPVAITFA 0.4 BRE 0.4 — 2916 — 2l A
SPZAES 2.9 BRE 2.9 — 1,296 — 1 A L
E—X BRE - 2,160 — 1
MrAL& 8.5 BRE 47 864 756 648 5/ A 25
[ES AT 47.2 £ % 33.7 — 2376 — 10] vay M
[ECTRYNS JtiEE 13.5 3,024 - 2916 0] A L
=& 5.6 =l 45 - 96 — 1 A L
AL 8.8 "5 & 5.0 4,320 - 4104 0] ¢ LL
f=Fh&E 70.4 JtiEE 69.9 3,564 3,456 3,348 20 La4
ELLV=T 2.7 BRE 0.1 140 - 108 0.1 b L
HELLV=IT =l 1.2 119 — 108 0.1 A S
ZDEET 6.0 K & 3.6 59 32 32 0.1 A
ZDEET =l 0.6 59 51 41 0.1 A
LHL 2.7 2 [ 2.4 151 124 124 0.2
S ER T 870.6
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BMAHMAEE 8.9
iR 8.9 B X 6.7 5,184 5,184 4,320 10 L
iR B X 7,776 6,480 5,400 10 M
iR B X 7,560 6,480 6,264 10 S
iR FOERLL 1.0 6,264 — 5,400 10{ 74¥21 L
iR 0L - 7,560 - 10[ 74v1 M
iR 0L - 7,560 - 10[ 74v1 S
*—JIL 0.4
LEAIA 0.2
[Foz< 0.4
B 1.7 BERE 15 3,780 3,780 3,132 5| 74va L
LEY 1.5 TA)H 1.3 - 8,640 — 17 140
INLULT 0.7 = I 0.7 7,992 7,776 7,560 17 88
L7y 0.2 = M 0.2 6,804 6,480 5,940 15 35
HmoMAED 0.6 ERS 0.6 2,700 — 2,592 10 vay LL
YAZE 13.3
PEFE=IAN 1.9 5 & 1.9 — 4104 — 10] k) 46
AL 9.7 "5 & 8.8 6,264 — 4,860 10[ 7h¥a 32
T 1.1 "5 & 1.1 4,666 — 4,644 12 A
WEET 3.2
=5 3.2 2 [ 3.2 2,916 2916 2,700 5| 7hv1 L
W5 6.0 BRE 3.1 594 540 518 025 A L
AOVEF 1.4
7—ILA 1.2 RS 0.2 - 3,240 — gl vay M
ZDADY 0.2 B A 0.1 12,960 — 11,880 8| an LL
FULIAE
ERRY
INFF 15.6 EYEY 15.0 5,940 3,694 3,283 15
NAFyFTIL 2.1 EYEY 2.1 3,024 2,700 2,484 10 8
FoA4T)LY 1.8 2 [ 1.6 3,240 — 3,132 3.6 33
RERE 61.4




